

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$11,764,813.90	\$11,191,082.33
Contributions	(\$1.53)	(\$2.32)
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$0.00	\$0.00
Income	\$8,831.81	\$31,565.83
Administrative Expense	(\$160.85)	(\$930.80)
Investment Expense	(\$257.30)	(\$2,481.85)
Investment Manager Fees	(\$13.36)	(\$424.31)
IFA Loan Repayment	\$0.00	(\$8,825.32)
Adjustment	(\$6,671.77)	(\$6,671.77)
Realized Gain/Loss	\$34.39	\$3,753.71
Unrealized Gain/Loss	(\$165,519.30)	\$393,990.49
Ending Balance	\$11,601,055.99	\$11,601,055.99

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	0.52%	08/01/2022

RIVERSIDE POLICE PENSION FUND

Fund Name: RIVERSIDE POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:			Unit Value Summary:		
-	Current Period	Year to Date		Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00	Beginning Units	0.000	0.000
Contributions	(\$1.53)	(\$2.32)	Unit Purchases from Additions	0.000	0.000
Withdrawals	\$0.00	\$0.00	Unit Sales from Withdrawals	0.000	0.000
Transfers In/Out	\$1.53	\$2.32	Ending Units	0.000	0.000
Income	\$0.00	\$0.00	Enaing Onits	0.000	0.000
Administrative Expense	\$0.00	\$0.00			
Investment Expense	\$0.00	\$0.00	Period Beginning Net Asset Value per Unit		\$10.148881
Investment Manager Fees	\$0.00	\$0.00	Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000
IFA Loan Repayment	\$0.00	\$0.00			
Adjustment	\$0.00	\$0.00			
Realized Gain/Loss	\$0.00	\$0.00			
Unrealized Gain/Loss	\$0.00	\$0.00			

Performance Summary:

Ending Balance

RIVERSIDE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	08/01/2022

\$0.00

\$0.00

RIVERSIDE POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$11,764,813.90	\$11,190,784.33
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$1.53)	\$308.03
Income	\$8,831.81	\$31,565.54
Administrative Expense	(\$160.85)	(\$930.80)
Investment Expense	(\$257.30)	(\$2,481.85)
Investment Manager Fees	(\$13.36)	(\$424.31)
IFA Loan Repayment	\$0.00	(\$8,825.32)
Adjustment	(\$6,671.77)	(\$6,671.77)
Realized Gain/Loss	\$34.39	\$3,743.80
Unrealized Gain/Loss	(\$165,519.30)	\$393,988.34
Ending Balance	\$11,601,055.99	\$11,601,055.99

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,180,012.311	1,179,981.132
Unit Purchases from Additions	0.000	31.260
Unit Sales from Withdrawals	(669.335)	(669.416)
Ending Units	1,179,342.976	1,179,342.976
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

RIVERSIDE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	0.31%	08/19/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

RIVERSIDE POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
RIVERSIDE POLICE I	PENSION				
05/25/2023	05/26/2023	Transfers In	1.53	10.148881	0.1508
05/25/2023	05/26/2023	Contribution	(1.53)	10.148881	(0.1508)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	1.53	8.919671	0.1715
05/25/2023	05/26/2023	Transfers Out	(1.53)	8.919671	(0.1715)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(6,671.77)	9.970077	(669.1794)
05/25/2023	05/26/2023	Transfers Out	(1.53)	9.820810	(0.1558)